PNP SILICON

H1068

TRANSISTOR

25B1068

B T=25
TO-92
Tstg—— -55~150
T—— 150
Pc—— 750mwW
Vcgo—— — -20V 1— E
Veeo—— — -16V 2— C
3— B
Vego—— — -6V
lc—— -2A
lcp—— -3A
B T=25
BVcBo — -20 \% Ic=-100p A 1e=0
BVcEo — -16 Vv Ic=-10mA 18=0
BVEBO — -6 V le=-1mA 1c=0
HFe(1) 135 350 650 Vce=-2V, lc=-100mA
HFE(2) 100 Vce=-2V, lc=-1.5A
V/CE(sat) — -0.25 -0.4 V Ic=-1A, 18=-10mA
-0.31 -0.5 Vv Ic=-1.5A, 1B=-75mA
-0.33 -0.5 Vv Ic=-1.5A, 18=-20mA
VBE — -550 -600 -650 mv Vce=-6V, Ic=-5.0mA
Iceo — -100 nA Vee=-16V, 1e=0
leBo — -100 nA Ves=-6V, Ic=0
T 100 180 MHz | Vce=-10V, Ie=-50mA
Cob 60 pF | Vce=-10V, Ie=0
f=1MHz
K U
135—270 200—400 300—650




	BVEBO

